KomMmnnekc caHObI myb6ipOeH wbirapy



OKy MmakcaTrTapbl

12.1.2.11 TpUroHOMETPUSIIBIK TYPAE YCHIHBUIFaH KOMIUIEKC CaHIbl N-III1
Topexen TyOIpJeH mbiFapy GopMyaackiH KOPTHII HIBIFAPAJIbI )KOHE
KOJIJTAaHA bl ;



2" =r"(cosng+isin ng)

Myaep gpopmynacwet oen amanaoeol.



— B Gt L
/=2 (cos . + isin 4)

W=3 (cos % + isin %)




o JKozapuwioazvl popmynamen kamap Myasp
z =r(cosg+isin @)
KOMNJIEKC CAHHaH myoip any GpopmynacsvlH o0a
KOPbIMbIN WbI2APObl, S2HU
X" =1
MmeHOeyIiHiH X  QUHbIMANBLICLIHA — KAMblCHIbI
oapavix myoipaepin maoy.



« Eeep 7z = ,o(cosz,u +1SIn z,y)

MeyOIKmIiy eKi JicazblH 0a N-wi o0apedceee
ULbLEAPAMDBI3.

* Myaesp hopmynacein naudanranvin Keieci
MeHOoIKMI Anambui3.

p"(cosny +isin ny)=r(cosp+isin @) °



» EKi KoMniexc CaAHHbIH MeHOI2IHeH MbIHAHb]
aAnambol3;

* p'=r owonHe Ny =@+ 27K

Hemece

@ + 27K
N
MmyHoaewl K — xanoati oa 6ip Oymin can,

: p:Q/F MHCOHe W =

o Ur - mepic emec HaKmMvl CAHbIHAH
apugmemuxaivlk myoipi.



e COHbIMEH,

Q/EzQ/F(cos¢+2ﬂk+isin ¢+2ﬂkj, keZ,
n n

MYHOA&bl

k=0,12, .. n=1



7 Ecenrey epexeci

1) TikOyphIITHI IEKapPTTHIK KOOPAMHATA )KYHECIHIC PaIUyChI Qf; 0O0JaThIH 1IEHOEP CaJIbIHBI3.
2) @, = k4 COyJIeCiH caybIHbI3 (¢, OYPHIIIBIH CATBIHBI3).
n

14

3) IllenOepai TeH N Oeiikke O6OIMIHI3, COYEJICIHIH IIEHOEPMEH KHUBUIBICY HYKTECiHEH Oacram

caHaragma.

4)  AnbIHFaH HYKTEEpIiH abcuuccanapbl MEH OpAMHATAIAPhIH Ta0bIHbI3. Onap Y/ Z CaHbIHBIH HAKTHI
MKOHE KOpbIMas 06JIKTEPi OO0JIBIN TaObLIAbI.



MpbIcaJ.

o Tyo6ipoin bapnblk MoHOepin mabvliHOap V2+2i .
o TpuconomempusiiolK mypi.
2+ 21 = \/g(COS£+iSin Z)
4 4

» Dopmyna boUbIHULA

ﬂ+27zk ﬂ+27zk
3/ 3] 4 — 6 2 (T2
2+2|: \/é CcOS 3 +1SIN 3 :\/é COS E+§7Zk +1SIN E‘Fgﬂk

k=0,1 2



Yut mon anamwi3:

z,=5%/8 COS = +isin —— :\E(00315°+isin 15") :
12 12

z, =R/8| cos 7 20 visin[ Z 4 2x :ﬁ(c05135°+isin135°) :
12 3 12 3

z, =%/8 COS(£+ﬁﬂj+isin(£+ﬂﬂj :\/5(003255° +1sin 255°).
12 3 12 3



Tpuconomempusnvik mypoezi KOMNaAeKc CaHobl
aneebpaiblk mypee Kouipemis.
C0s15" = cos(45° —30°): c0s45" -cos30" +sin 45° -sin 30° =

PRI
2 2 2 2 4




SN 15" =sin (45° —30"): sin 45° -cos30° —c0s45” -sin 30° =
2 3 V21 J6-\2

2 2 2 2 4
* C0s135 = cos(90° +45‘°): —Sin 45° = —%

. sin135° =sin (90" +45°)=cos 45" = V2

J6—+/2
4

J6 ++/2
A

® c0s255° = cos(270° —15°): —sin15° = —

sin 255" =sin (270° —15"): —Ccosl15° =—




CoHIObIKTaH

ﬁ[\@+ﬁ+i£—\/§j:\@+1+.£—1

4 4

N

(\E .ﬁ]_ |
—— 41— [=-1+1
2 2

ﬁ[—*/g_ﬁ—i*/ng\E

4 4

]:

2 2

_\/§—1_i\/§+1
2 2




31 Gapiblk MOHIEPIH TaOBIHBI3.

memyl. z=1+0i,x=1,y=0,|z

:19(0:0_

31 zl(cos O+§”k +1sIn O+§ﬂkj , myHgarel K = 0,1,2.

k=0, conma W, =cos0+1isin0=1;

k=1, conna lecosz—”+isin2—ﬂ:—l+iﬁ;
3 3 2 2
k=2, conma W, :cos4—ﬂ+isin4—7[:—1—i£.
3 3 2 2
V3

Kayaosr: 1; 1 +i—.
2 2



Find all the complex fourth roots of 16(cos 120° + i sin 120°). Write roots in polar
form, with @ in degrees.

Solution There are exactly four fourth roots of the given complex number. From

DeMoivre’s Theorem for finding complex roots, the fourth roots of
16(cos 120° + i sin 120°) are

20° 0y, 2° o
7, = V16 [cos('“o — ") + isin(l“o i ")] k=0,1,2,3.

4

Use z; = \"/;[cu(———-—-o x i“ok )+ i tin (_____0 s 3.60"1( )l
In 16{cos 120° + 7 gin 120°), r = 16 and 6 = 120°.
Because we are finding fourth roots, n = 4.

" 120° + 360°-0 . (120° + 360°-0
2y = 16| cos 2 + i sin 2

_ 120° . 120° -
=V 16(cosT + i sin T) = 2(cos 30” + i sin 30°)



e

l2()° + 360° 1 .. (120° + 360°-1
16 cos + [ Sin 2

Q 8 Q
v 16(cos 0 + i sin 440 ) = 2(cos 120° + isin 120°)

4 120" <+ 360° 120° + 360°-2
= V16| co + i 8in 2

. 84()" . 840° .
16| cos + i sin = 2(cos 210° + isin 210°)

()
(B
I

4
T [ 120° + 36()° ) ( 120° + 360° - 3)}
16| co + isin
4
V16 l6(cos 10 + isin 1200 ) = 2(cos 300° + i sin 300°).



Find all the cube roots of 8. Write roots in rectangular form.

Solution DeMoivre’s Theorem for roots applies to complex numbers in polar
form. Thus, we will first write 8, or 8 + 0i, in polar form. We express 6 in radians,

although degrees could also be used.

8 = r(cosf + isinf#) = 8(cos 0 + isin0)

3— 0+ 27wk 0+ 2
2k = ¥8|Vcos(-—+——-7—ré-)+isin(-—+—ik——’ k=012

0+ () + ()
20 = \V%-{ cos( Ly ) + isin(0 £y )

3 3
= 2(cos0 + isin0) =2(1 +i-0) =2
A = \Vg[cos(o L z'n’-l) + isin(o +§W.l):|

2r . 2w 1 V3
=2{coSs— +ismpm— | =20 ==+ jo—

3 3 2 2

—l+i\/§



3 U+ 202 e O 22
2 = \/2_5 cos 3 + I sin 3

3 3

2

2

= 2(cos4—" " 1sin4—") = 2(—l + 1(—£)) = -1 - V3.




